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[image: image1.png]A customer using a certain telephone calling plan
pays afee of $25 per month, and then receives a
discount of 40% on the regular charge for al calls
made to Country 4. Ifcalls to Counry A are regularly
charged at $1.60 per minute for the first 3 minutes,
and §0.80 per minute for each minute thereafter, what
is the maimum the custormer could have saved aver
regular prices if he was charged for 1 hour of calls
made to Country 4 in a certain mont?
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In order maximize the discount, you need to maximize
the cost. The maximurm costwould accur ifthe one
hour of calls was made up entirely of 3-minute calls,
which per minute are the most expensive. That would
costB0x $1.60= $96. On the plan, these calls would
cost §25 forthe fes plus §95 minus the 40% discount
Therefore, the discounted costwould be §25 +
6(59) = $25 + 557.60 = §82.60; the Savings would
be 95 $8260=§13.40
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Each picketis  Inches = . feet wide, and each
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From sketching a quick diagram you can see there
must be one less space than there are pickets, since
the fence must begin and end with a picket. So there
are xpickets and (x 1) spaces. The total lengt is
1_x, % 1_x 12 _12
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1 foot =12 inches =0.3048 meter 
1 yard =3 feet =0.9144 meter 

1 inch =25.4 mm

3.

[image: image3.png]Whatis the smallest possible comrmon muliple of two
integers which are both greater than 250 7

“Think about haw to make the common multiple the
smallest, Both integers must be greater than 250. S0 f
both integers were 251, the smallest common multiple
ofthese integers is 251. At this point looking atthe
answer choices can make you more confident that you

have the right answer because 251 is the smallest
choice.
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D Statement (1) BY ITSELF is suficientto
answerthe guestion, but statement (2) by tself

(2] nt is

answer the question, but statement (1) by tself]

are sufficient to answer the question, even
though NEITHER statement BY ITSELF is
sufficient.

@ EITHER statement BY ITSELF is suficientto
answer the question.

@ Statements (1) and (2) TAKEN TOGETHER
are NOT sufficientto answer the guestion,
requiring more data pertaining to the problem

If < Dthen sither ab < 0 or cc'< 0. (You cant simply
mulliply both sides by ccito clear the fraction, since
you don' know whether ctis negative or not)
Staternent 1 tells you that cc'» ab, 50 cfmust be
positive, and ab negative. This does not help tell you
whether bc » ad 0 Statement 1 is insuffcient and
you can eliminate (1) and (4),

Staternent 2 tells you that both b and ¢ are negative,
and b= c. Since the product of any two negative
numbers is positiv, bc s positive. You know from the
stem that sither ab < 0 or cd < 0, but not both. Since
the productof a positive and negative number is
always negative either 2 must be negative and o
positive, or a must be positive and b negative. In both
cases, sdmust be negative, and so less than be.
Statement 2 is by itself sufficient.
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[image: image5.png]A customer using a certain telephone calling plan
pays afee of $25 per month, and then receives a
discount of 40% on the regular charge for al calls
made to Country 4. Ifcalls to Counry A are regularly
charged at $1.60 per minute for the first 3 minutes,
and §0.80 per minute for each minute thereafter, what
is the maimum the custormer could have saved aver
regular prices if he was charged for 1 hour of calls
made to Country 4 in a certain mont?
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In order maximize the discount, you need to maximize
the cost. The maximurm costwould accur ifthe one
hour of calls was made up entirely of 3-minute calls,
which per minute are the most expensive. That would
costB0x $1.60= $96. On the plan, these calls would
cost §25 forthe fes plus §95 minus the 40% discount
Therefore, the discounted costwould be §25 +
6(59) = $25 + 557.60 = §82.60; the Savings would
be 95 $8260=§13.40
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Each picketis  Inches = . feet wide, and each
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From sketching a quick diagram you can see there
must be one less space than there are pickets, since
the fence must begin and end with a picket. So there
are xpickets and (x 1) spaces. The total lengt is
1_x, % 1_x 12 _12
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[image: image7.png]Whatis the smallest possible comrmon muliple of two
integers which are both greater than 250 7

“Think about haw to make the common multiple the
smallest, Both integers must be greater than 250. S0 f
both integers were 251, the smallest common multiple
ofthese integers is 251. At this point looking atthe
answer choices can make you more confident that you

have the right answer because 251 is the smallest
choice.
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D Statement (1) BY ITSELF is suficientto
answerthe guestion, but statement (2) by tself

(2] nt is

answer the question, but statement (1) by tself]

are sufficient to answer the question, even
though NEITHER statement BY ITSELF is
sufficient.

@ EITHER statement BY ITSELF is suficientto
answer the question.

@ Statements (1) and (2) TAKEN TOGETHER
are NOT sufficientto answer the guestion,
requiring more data pertaining to the problem

If < Dthen sither ab < 0 or cc'< 0. (You cant simply
mulliply both sides by ccito clear the fraction, since
you don' know whether ctis negative or not)
Staternent 1 tells you that cc'» ab, 50 cfmust be
positive, and ab negative. This does not help tell you
whether bc » ad 0 Statement 1 is insuffcient and
you can eliminate (1) and (4),

Staternent 2 tells you that both b and ¢ are negative,
and b= c. Since the product of any two negative
numbers is positiv, bc s positive. You know from the
stem that sither ab < 0 or cd < 0, but not both. Since
the productof a positive and negative number is
always negative either 2 must be negative and o
positive, or a must be positive and b negative. In both
cases, sdmust be negative, and so less than be.
Statement 2 is by itself sufficient.
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